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(1) AGRICULTURE | Wffehe=rt

1. Indian Council of Agricultural
Research was established in the
year

(A) 1926
(B) 1929
(C) 1936

(D). None of the above

2. Indian Father of Green Revolution is
known as

(A) Dr. G. S. Khush

(B) Dr. Norman E. Borlaug

(C) Dr. M. S. Swaminatha@

(D) Dr. B. P. Pal
*

nternational
ute is located at

3. The Headquar
Rice Rese

(A) Rome, Italy
(B) Los Banos, Philippines
(C) Mexico

(D) Hyderabad, India

1. wRdE N erghue ot H e e
a9 g8 fi?

(A) 1926
(B) 1929
(C) 1936

(D) 39 § | g T

(C) o THo THo TTHHTA
(D) €fo o o Ut
3. S e SIEIN G H JEIe
gl e 27
(A) T, gt
(B) W@ 4, Tefedia
(C) HfemR |
(D) eTE, WA
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4. Presently which of the following 4. e § fm T 9 frw wamhs &9

chemical fertilizers is not produced TR U Ied A8 R S W@ e
in India and is being imported? Toram ST 27

(A) Triple superphosphate (A) @WWW

(B) Ammonium sulphate (B) TifRm Gz

C) Potassi Iphat

(C) Potassium sulphate () TRRrM weke

(D) All of the above

(D) SwYth weft

5. National Institute of Biotic Stress . .
Management was established at 5. @’9 EERERISIERCT IR
which place and in which year? W wd form o g% ofi?

(A) Labhandi, Raipur and 1987 () (A) AW, TR ©F 1987
L 2

(B) Baramati and 2009 ® (B) @R Td 2009

(C) Baronda, Raipur and 2 (C) =T, TAR T 2012

(D) Barrackpore aO:% (D) éwaxqa 2010

*

6. Who Comed®s term - Green | ¢ < i W Y PR TR 17

Revolutiog’
(A) Wi1li’ax'c.aud (A) Tafoem e
(B) M. S. Swaminathan (B) WHo THo TTHIIN
(C) Dr. Norman E. Borlaug (C) o = $o SRwI
(D) C. Subramanian (D) o gowT

SPACE FOR ROUGH WORK / T &1 ¥ fow sme
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. Phalaris minor is

7. ‘The impact of Green Revolution was

largely noted in

(A) rice only

(B) wheat only

(C) rice and wheat

(D) rice, wheat and pulses

. Which of the following is a cereal

crop?

(A) Linseed
(B) Wheat
(C) Castor
(D) Cowpea

&

rtant weed

*

e
(A) rice \,
(B) wheat

(C) maize

(D) groundnut

7. i i 9TE g ¥9 W <@l T
(A) %a%%mﬁ
(B) Faa g H
(C) uH T T H

(D) uH, T wd T A

8. fim % 4 -t o™ F a7

T

(C) T

(D) <fer

9. SRy HIER T TGN @

(A) o H

(B) Mg H

(C) 5l R

(D) Hwett =
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10. IGKVR-1 (Rajeshwari) is a variety of | 10. go Sfto o o AR-1 (TST)
o
(A) rice
(A) o 6
(B) wheat
(B) T H
(C) gram
(C) =T H
(D) safflower
(D) g H
11. Which one is central to soil health?
11, 1 HE -G 27
(A) Soil microorganism
a1 el
(B) Soil moisture
‘ g) (B) Tt

.
(C) Soil organic carbon
0 (C) Ta1 o e

(D) Soil structure

12. The theme Qgricultural

(D) &1 G

development *i dia during 12. sy ¥ 99 2016-2017 & HfY f
2016-2017 is@ 7g o &

(A) mox@ more (A) eI § e

B) rrlore from less (B) = ¥ ST

(C) less from more (C) SR FH

(D) more drop less crop (D) 9T I FH HEA

SPACE FOR ROUGH WORK / % &M &% fow s
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13. The total food grain production in | 13. yrgad # 59 20142015 § FA GEH

India during 2014-2015 was Y| aamﬁa e O
estimated approximately

(A) 260 fafeEm =

(A) 260 million tonnes
(B) 255 fafer &

(B) 255 million tonnes
(C) 280 ffeE &

(C) 280 million tonnes
(D) 301 fferE &

(D) 301 million tonnes

— 14, el % forar %
14. The Father of Blue Revolution is

o THo &I
(A) Dr. R. S. Paroda =

g& gfo WHo THo WHIMITR

(C) Sfo ATHA o ST

(B) Dr. M. S. Swaminathan
(C) Dr. Norman E. Borlaug

(D) Dr. Hiralal Chaud (D) Sfo Errene el

15. fi= § § fra 33w B T6EE @R % W

15. Which one of the fert111zers
is known as@ Y S S 87
(A) Urea (A) '{R'QT
(B) Calcium ammonium nitrate (B) Hfemm swifem M
(C) Ammonium sulphate ©) ST Tehe
(D) None of the above (D) Wﬁ?ﬁﬁ@ﬁqﬁ

SPACE FOR ROUGH WORK / T & % foTq SFre
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(2) AGRONOMY / W=t

16. Flooding method of irrigation is
used, when

(A) field is levelled
(B) enough water is available easily
(C) Both (A) and (B)

(D) water is limited

17. Which of the following is a long-term
effect of urea application?

(A) Soil becomes neutral
(B) Soil becomes acidic

(C) Soil becomes saline

(D) None of the abgwv:

18. Double zero ra‘ &Q and mustard
varieties refe@
(A) low® of erucic acid

(B) low content of glycosinolate

(C) low content of both erucic acid
and glycosinolate

(D) None of the above

16. T&=ré ¥g =g Tl =1 sw@m e sm
I

(A) W& FHad B

(B) T HEN § S AT ¥ IUH
(C) @t (A) & (B)

(D) & Hifta &

17. ¥ HE-A @ wwqﬂz
1 9 87

() (A) 9 Jeref 2 St @

¢ (B) oft 3nehi & S B

(C) o T & st B
(D) 39 & F A T

18. &l a1 A ¥ gaa v fhadi @ 9
?

(A) $ERres 3Trer <Y 1 TN
(B) TERIRFAE 6 %7 A0
(C) $ERr Tt Wd TAEHITAIIE o

H AT

(D) 3R F | A T

SPACE FOR ROUGH WORK / % %1 & fou sme
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19. Which one is the aerobic variety of 19, SR ETER> C | @ﬂ%ﬁﬁ e

rice in Chhattisgarh? wHA-d 37
(A) Chhattisgarh Aerobic-1 (A) SUETG T fereh- 1
(B) Chhattisgarh Aerobic-2 (B) TraTe I feleh-2
(C) Indira Aerobic-1 | () gfeq waifaes-1
(D) Indira Aerobic-2 (D) 3feq wie®-2
20. Which of the following is abbreviated 20. e #f ¥ FA-W1 2,4-D 1 Gidw T 7
as 2,4-D?

(A) 2,4-diphenolic acid
(B) 2,4-dichlorophenoxy acetic acid
(C) 2,4-diphenoxy acetic acid

(D) None of the above

21. In which crop earthing is
required?

(A) Sugarcane

(B) Sunflower OQ

L 4

(C) Potato %
(D) Rice ®

22. Crop should b€ harvested at 22, U Hl H MY
(A) physiological maturity (A) i g W
(B) real maturity (B) Arfereh URUERAT W
(C) overmaturity (C) 3Tfereh TRTeRaT W
(D) None of the above (D) ST | | HIE T

SPACE FOR ROUGH WORK / 1% &® &% fog sime
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23. Chhattisgarh Madhuraj 55 is a rice
variety having

(A) low zinc
(B) high zinc
(C) low glysemic index

(D) high glysemic index

24. The Central Arid Zone Research
Institute, Jodhpur was established
in
(A) 1952
(B) 1957
(C) 1959
(D) 1961 *

25. The temporary roots in maiz
system are
(A) seminal roots
(B) aerial roots Q
(C) crown root O
(D) coro

26. Tensiom was first used for
scheduling irrigation by
(A) Richards
(B) Taylor
(C) Miller

(D) All of them

23. JUEIE AYTS 55 W h Few

foriyar 3

(A) m fore F1 AmEn

(B) ftres ik B 9o

(C) ¥ TATRHHS TS

(D) 3fres TR SoF

ST Y G AJEIH G, S
T g ot

A

24.

1952
1957 #
) 1959 §
(D) 1961 &

25. W hl S Hawn ¥ Ieyrh e ¥
(A) AftTa sTg
(B) TTw 518
(C) s ST
(D) SRS 58

Trerg, T vy e %1 SuEm
g foRam o

(A) feedm A
(B) ;WA

(€) Taer A
(D) 3 4 aft

26.

SPACE FOR ROUGH WORK / 1% %™ & Tt g
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97. Which of the following can be used | 27. RE ® foewm ¥g Fm & @ FF-w

as foliar spray? I9YE 27
(A) Single superphosphate A) T gwwiehe
(B) Calcium ammonium nitrate (B) Hfcqmm mifm wEee
(C) Urea (C) Ffen
(D) Ammonium sulphate : (D) i wethe
28. Argimone Mexicana is a 28, A AfRAwET B
(A) obligate weed (A) Afseiie EITaR
(B) facultative weed (B) Hergefea Eudar
(C) Both (A} and (B) (€) T (B)
(D) None of the above T q »iE T
29. Aroma in scented rice is due to the ’Ya O‘Q’i‘fiﬁ e W G B BRI fad 9
presence of forgeh! Sufeafa Bt 27
(A) 1-acetyle-1-pyraline (A) 1-Vefera-1-aRfeH
(B) 2-acetyle-1-pyralin (B) 2-Udera-1-wrieH
(©) l—acetyle—2-py£ali§ (€) 1-YHieTga-—2-arfe
(D) 2—acetyle—2-p® (D) 2 -UHRTEA—2-TReH
30. Congress g@ 30. HIW U 7
(A) Cynodon dactylon (A) Wﬁﬁﬁé@ﬁ'&ﬁ?
(B) Digitalis purpurea (B) ireriora wwwgfean
(C) Cymbopogon citratus (€ WW'HE??H
(D) Parthenium hysterophorus (D) st ReiwrE

SPACE FOR ROUGH WORK / {6 &/ & fou sime
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(3) WATER MANAGEMENT /aiex fAwiHe

31. Specific yield is also known as
(A) drainable porosity
(B) effective rainfall
(C) soil moisture

(D) available water

32. Rainfall erosion depends upon the
Identify the

i
S

following except one.
odd one.

(A) Rainfall intensity

(B) Soil type

(C) Vegetation COVQ

*

(D) Soil temp @

33. Water K ecorder is used in
(A) dug wells
(B) tube wells
(C) streams

(D) drainage measurement

31. fafye 3o

3

33.

_ wwunfiwmem
(A) wreier

(B) wureft auf

(C) T <t =t

(D) 39ctsY Y

&eor i o ¥ U o Bl 9
Al 8 | 39 U HRUI ] Yg9H 9

(A) =i <t i
(B) g & y&R
(C) Tl eT=sTer

(D) gt =1 aEm

ST TR fenidt w1 swm R e @
(A) g et A

(B) -Ta-at A

(C) wwsh

(D) SaI-Tehrelt & Ay o

SPACE FOR ROUGH WORK / % %M % fou wg
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34. The water requirement of groundnut | 34. FTHeh woa § U HY Srergehar A R
crop is

(A) 400-600 (A) 400-600 mm
= mm

(B) 1000-1100 (B) 1000-1100 mm
i mm

(C) 200-300 mm (C) 200-300 mm

(D) 800-900 mm (D) 800-900 mm

35. Which crop has the highest irrigated 35. WRa # TEe MR A F W@ LECECIEED

area in India after rice and wheat?

(A) Soybean @"Wﬁ? £l
*

(B) Sugarcane (B) T
(C) Groundnut ©) deh
(D) Pulse ‘ 60 —
36. Which State i the highest | 26 v § wed) st iR &9 2
irrigated ar
(A) Tamil Nadu (A) dfirerrg #
(B) Haryana (B) e #
(C) Punjab () e
(D) Gujarat (D) T

SPACE FOR ROUGH WORK / % %1 % fog 7R
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37. The number of village tanks in | 37. Sxfiog ¥ 7ig & &l it & %

Chhattisgarh is approximately YR

(A) 1200 + (A) 1200 +
(B) 20000 + (B) 20000 +
(C) 38000 + (C) 38000 +
(D) 100000 + (D) 100000 +

38. The Irrigation Commission in India 38. wid # fG=r amam 3 fawiiwt 6 off
made recommendations in

(A) 1972 F
(A) 1972 :
1985
(B) 1985 & ;
)* 2000
(C) 2000 0
(D) 2010 N g) @) Jio S
. ; 39. T # & g o | =g =1 A
39. Irrigation is not measured i e
of the following units? )
(A) litre (4) #R
(B) hectare-centi (B) TRT-FLHR
.
©) miuimet% (©) fafemfiex
(D) ¢ r per second (D) +feres HieX wfer v

40. & 6 T = fred T 7 S g

40. Soil moisture is not measured by

(A) gravimetric method (A) ST Tty
(B) gypsum block (B) e safe
(C) psychrometer | (C) TR
(D) neutron meter (D) =g i

SPACE FOR ROUGH WORK / % %™ % fore s
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(4) AGRICULTURAL METEOROLOGY AND CROP PHYSIOLOGY /
Wfrereere Mfzerrait e wiu eRmEratt

41. Aridity index indicates 41. YeFal Wgﬁaaﬁw%
(A) water availability (A) U R IucTsHEn
(B) degree of dryness (B) ;Lgrgaﬁqaﬁ
(C) saturation level (C) ¥aH &R
(D) moisture level (D) oA
42. Cyclones in the Bay of Bengal 42 T § TFaE SHAR W
usually occur during the period . > ??lTF[‘ St 27
(A) January-February * (A) S -
(B) March-April B) A -3t

(C) July-August OQ ©) ge-sm
(D) November—-Dece& o) )

43. Which one Qollowing is not a . )
xg 43, e 1 § -1 T HEw H TaU TE 27

weather hazard~

(A) Drought (a) st
(B) Flood (B) 9¢
(C) Frost (C) R
(D) Earthquake (D) 9

SPACE FOR ROUGH WORK / {6 &1 % fag S8
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44. Seed germination depends on 44, & ST@TUT W st e B

(A) temperature (A) dYHE

(B) wind (B) =&

(C) atmospheric humidity (@] Engq?.?ﬁa T

(D) seed weight (D) i< & TS
45. Respiration occurs BT 2

(A) during day time ()O(A) o7 % Rm
*
(B) during night time 0® (B) Td % IRH

(C) always (C) T

(D) on a clou dyéQ (D) =ew R & #

46. Harve 1s the ratio of 46. O YABIH JIUTd B 2
(A) y1eld to height (A) 39 T I H
(B) yield to leaf weight (B) 39S ¥ WAl & I H
(C) economic yield to biological yield (C) i 3ust | wifaeh It A
(D) yield to evapotranspiration (D) Ut ¥ Irfi-TRaE H

SPACE FOR ROUGH WORK / T %M % T SR
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47. The average drop of air with height 47. ‘@'ﬂm % S=m % WY g Hl ha

(lapse rate) in troposphere is firgee (AW @) Bt 7
(A) 65 °C/km (A) 6'5 °C/km
(B) 102 °C/km (B) 10-2 °C/km
(C) 85 °C/km (C) 85 °C/km
(D) 4-5 °C/km (D) 45 °C/km

48. The unit of pressure designated by 48, IE™ womEd (SI) T Aféy ca@

international system (SI) is TS B
(B) millibar ®)

(C) centimeter

(D) pascal R G e

L 2
49. The approximate distance between @ 3‘?1’(‘3 T 2 zh 3

the sun and the earth is

(A) 80 million km (A) 80 million km

(B) 1000 million km (B) 1000 million km

© 1200 million ;E O | (C) 1200 million km

(D) 1500 milli (D) 1500 million km

50. Which crop ally shows greater 50. FR-H HHC i R

stomatal resistance? LU
(A) Alfalfa (A) =
(B) Soybean (B) WEEH
(C) Sorghum (C) &R
(D) Wheat D) T

SPACE FOR ROUGH WORK / T %M % fq &
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51.

52.

53.

@)

(5) ENTOMOLOGY AND PATHOLOGY / USIHIATN Urg YeTeAT

Which part of the insect’s
exoskeleton is composed of living
cells?

(A) Procuticle

(B) Epidermis

(C) Cuticulin layer

(D) Basement membrane

An insect’s head is specialized for
(A) reproduction and digestion

(B) ingestion and perception .
(C) orientation and locomotio
(D) adaptation and respi ;

What is the unit
.

milligr
weight

kil
weight

of insect body

(B) /gram of insect body

(C) gram/gram of insect

weight

body

(D) milligrams/kilogram of insect

body weight

51.

52.

53.

T F ARI-FHBIA B HH-GT T
HifRTEErett ¥ I BT 27

(A) TerRF
(B) uefa

(C) FfeFpfer waw
(D) I fereft

R foxva: fra s &

(A) IS TF 9eE

(B) WISH-TEY TF Sea&ol
(C) AT T HeIeH
(D) SFEH T T

e AT 50 I 0S40 87

(A) e 1 Tafemm/am IR R
(B) e 1 Tohelum /am wiftsh R
(C) <h1e 1 T /U™ NG AR
(D) e w1 Taferm /foreimm wrdifss

1027 /BE~-SFP/RCE-M/3-A
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54. In an IPM program, which control | 54. AfEa fle gevE w1 Ee-a FREw

is considered first? wrefierd: 7 27
(A) Cultural (A) HFTa

(B) Chemical (B) IR IEED
(C) Mechanical () =it

(D) Legislative (D) Serfrr

55. Which of the following is mnot | .. oonen § § S-@ fr e (i

a method of insect control?

L
(A) Cultural

A %iallﬂ
(B) Mechanical B |

(B)

(C) Biological
{

(D) All are methods of control ) :
QI;- ol formn farferrt €

56. Which structures are not endocrine * .
organs of insects? . BF-G GEATE Hie 6 AqHTE I E 87
(A) Corpora cardiaca (A) AR HITSTHI
(B) Prothoracic glands | (B) enEey ulmEt
(©) Salivary glands Q (©) @ b
(D) Ventral gangli& D) WW
. e i s | g, 3 e e
production ane}? agnd wax is i o e e A
called S
(A) apiculture (A) W'W
(B) sericulture (B) YwmHehie-TTeH
(C) silviculture (C) Tga-fagm
(D) pisciculture (D) Ac-UIeH

SPACE FOR ROUGH WORK / T &M & forq e
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58. Which of the following insect pests

59.

60.

is also called the lesser grain borer?
(A) Trogoderma granarium

(B} Tribolium castaneum

(C) Calandra oryzae

(D) Rhizopertha dominica

Obligate  diapause is
observed in which insect?

usually

(A) Univoltine sp.
(B) Bivoltine sp.

O

(C) Multivoltine sp.

(D) None of the a%
o

Which insect belong to the
order Dipt

(A) Mo& es
(B) Gnats
(C) Midges

(D) Whiteflies

58. Fr=fafea afers e & o ™
gad sft e 5man 7

(A) grivent #fem

(B) Trgaitferam heefram
(C) SheiwgT AR

(D) - TrEwaet et

59. wq SRR A few He # o
&
()QA) e S
Y B R R

(€) Tgher wenfa

(D) 3ugw & & +1E

60. FH-¥ Fie u W § 7 od €7
(A) FER

(B) res areh afeaat

(C) wfRgat

(D) e HiRgA

1027 /BE-SFP/RCE-M/3-A
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61.

62.

63.

(6) SOIL SCIENCE / ®iget WTsH

Alluvial soils are formed by

(A) the deposition of sediments by
rivers, its tributaries and other
streams

(B) erosion of uplands
(C) landslides in hill areas

(D) None of the above

The cause of formation of salt-
affected soils, consisting of saline
and alkaline soils is

(A) inundation of tidal water in
coastal areas

(B) deposition of salts on sl
surface through capillarieg al
result of over-irrigation

(C) Both (A) and (B) OQ

.
(D) None of the a

Most of the @ of Chhattisgarh

are

(A) alluvial
(B) saline
(C) alkaline

(D) acidic

61. vae (M) gard el &

(A) TRE, FH wEEe AR 9 I
St gR A T qase (d€iHe)
ECCIRCRS

(B) S=-yfril % ger-gww (=) A
(C) ETEl &t % SEEer 4
(D) 39 & T HE T

geredt, AR @l (SE)
gert wfldfera Bt 8, % o A
‘(A) T &t # SAR-IRT W S - ATAE

(B) Wa1 WA W, e e &
FRreR1at g, TGl 1 ST

(©) (A) @ (B) 3
(D) S0 § | &I &

63. TG H SARTR IR (H T &

(A) Vg (FTT)
(B) T (¥e)
(C) &=
(D) enfim

1027 /BE-SFP/RCE-M/3-A
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64. The deficiency of which nutrient
causes slow and stunted plant
growth, and purple colouration of
the older leaves particularly on the
underside?

(A) Nitrogen
(B) Phosphorus
(C) Potassium

(D) All of the above

65. The term that relates to

1. physiological  disorder

mineral elements (e.g.
Zn, Fe, Mg, S and

2. a condition in
plant parts
yellow

is calle@

(A) chlorosis

eaves or
abnormally

(B) mottled
(C) necrosis

(D) None of the above

64. 0 Ums @ I FH F HRO QY
R, o f=9 f AR, FE T
a1 7
(A) TEGSH
(B) IEHRE
(C) wrRfmm

(D), 37w aft

e () < gefm ?

1. @ @@l (S8—Mn, K, Zn,
Mg, S W& N) & =it & H
reft A Teadt (it
fegeiis) @

2. uftEl 91 DY * WP F STAHA
il B 9 eI A

T8 HEAl B
(A) FARIEH
(B) WS

(C) it

(D) 35 § ¥ HE T

1027 /BE~-SFP/RCE-M/3-A
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66. Land capability classes  are
designated by the numbers 1 to 8.
What do the numbers indicate?

(A) The numbers indicate
progressively lower limitations
and narrower choices for
practical use

The numbers indicate
progressively greater limitations
and broader choices for
practical use

The numbers indicate
progressively greater limitations
and narrower choices for
practical use

(B)
(©)

(D} None of the above

67. Bhata (entisols) of Chhattisgarh

belongs to which textural group or
texture?

(A) Gravelly, coarse sandy t

(D) Clayey soil

In majority& e cases soil pH for
optimal plant¥towth is

(A) >7-5

(B) Sandy loam

(C) Sandy clay loam

68.

(B) between 60 to 80
(C) between 55 to 7°0
(D) None of the above

*

66. f gema (FAFRAR) = H 1Y AR 8
TR (G qe Tgifed fen S g1
R F1 SN 87

(A) STEETR SUAT F J AR qGd A A
Fq @ qo gl qhe (SATEeE)
390d §

(B) =agiieh Sudn § ¥ TR Sed A A
(C) =EEeh SuHn § ¥ TR Sgd A A

(D) L EEEE]

67. > e (URE) TaT w1 SR

TR -1 87
N * () S (ch), e e 2w
(B) Yefieht ame
(C) ekt fordt Sme
(D) femt T
68. fEm W #, sifeean fu 3 %
e ger pH Y €1 Bt B
(A) >7-5
(B) 6:0 ¥ 80 % &=
(C) 558 7-0% =
(D) 3w § A A T

SPACE FOR ROUGH WORK / T %M % foTg Sie
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69. Soil testing provides 69. Ta1 wlEw § WiW a1 7

(A) nutrient content of soil (A) g1 T vk <l bl "
(B) additional nutrient required for (B) et % o svmavaes HAfafes div=
plants

(C) site-specific management plan (<)
(D) All of the above asfl
| O
70. A well-known practice to ens 0. TESA & kW A AR (3
adequate nitrogen of legumes j Neii) 3§ vty wEn A ARgeA gt

of N-fertilizer is ; 1 sum faftr (wem) 3

(A) rhizobium (A) TSR
O

(B) azot\' (B) TSIEreE

(C) azospirillum (C) tenfeferm

(D) None of the above (D) 3 d | HIE T

SPACE FOR ROUGH WORK / T &F & fau s
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71.

T2.

73.

(7) GENETICS AND PLANT BREEDING / SAfeew ¥ wie sfifén

Mendel’s law of segregation is based
on the fact that genes are located on
chromosomes and that

(A) homologous chromosomes pair
and segregate

(B) no crossing over takes place
between homologous chromo-

somes

(C) analogous chromosomes pair

and segregate

(D) None of the above

The condition in which a particular
gene occurs in three or more allelic
forms is called

(A) pleiotropy

(B) homeostasis

(C) multiple allelism Q

(D) linkage

The cytopl ic eritance shows
which type& yferences?

{A) Reciprocal

(B) Criss-cross
(C) Quantitative

(D) All of the above

71. WA H YURE w1 W 3@ G W

i § fo6 S W W iR

(A) UHSTEAT HEEE (RR) S S
3T 9% B ©

(B) TG AN (TR oER) A
HITan 3R 7t et ®

(C) TN HmEE S e € w
Yo% B §

(D)@\ﬁ { ¢
O

, ol w e s m i\ =@

7
mmm%mmmﬁ%,mm%

\0

73.

(a) feemgd

(B) iR

(C) Wedlud TehifersH

(D) forehwt

RREER ST R TER % S B
TR A 7

(A) rERE (Vi)

B) Bra-wE

(C) wmIweHeh (Fi-efea)

(D) 3 wf

1027 /BE-SFP/RCE-M/3-A
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74, Watson and Crick’s double-helical
model was proposed based on

(A) Chargaff’s chemical analysis of

DNA

(B) Wilkins and Franklin’s X-ray

diffraction data
(C) Both (A) and (B)

(D) their owr findings

75. The pyrimidine base that replaces

thymine in RNA as against DNA is
(A) uracil

(B) guanine

(C) cytosine

(D) adenine

76. The first step of plant breedi

(A) creation of variability

hybridizatii)n OQ

multiplic%
Which @lowing is an asexual
reproduc :

(A) Artificial vegetative reproduction

(B) selection
©

(D)

77.

(B) Apomixis
(C) Natural vegetative reproduction

(D) All of the above

74. T UE G & Sua-gioma Hied |
7 & fFg snuR w W o = et

(A) So To To F TXWE 1 *HMH
TR

B) fefra w Hskm «1 @
e s

(C) 3t (A) W (B)
(D) @9 H G g

fRfde S9 (&), St DNA & o
RNA R 9efin aiefdd o g, @

(

750

C) TREEH

¢ (D) WHH

9y YS9 H1 TAT W 3
(A) Taferear i gfe =
(B) ==

76.

(C) HR

(D) WM
Frrfriaa § & B-a1 SR T R
(A) FhW FHfD T

(B) Wi

(C) STplcreh hIFIh ok

(D) 3w wft

717.
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78. BT R ® A5, S B v

78. The superiority of heterozygous
genotype in respect to one or more RSN ¥ TH I SR A0 W 7, &
traits in comparison to &g Sdl &
corresponding homozygotes is
e () TAfeRm
(A) heterobeltiosis
(B) sGhfen
(B) inbreeding
(€) fifes sk
(C) relative heterosis
| (D) TR
(D) heterosis
79. TN T B
79. A complete flower will always be
|
(A) actinomorphic \ .
(B) SEAFGITA
(B) bisexual
(C) STEwITh®
(C) zygomorphic
D) 3wt @i
(D) All of the above OQ i
®
80. W INGT H HRU
80. A silent m es kS E
(A) framesﬁ' (A)
(B) tautomeric shift (B) ZemR e
(C) mispairing (C) Tormvafan
(D) No effect (D) IS I9E TE
SPACE FOR ROUGH WORK / T &H & g g
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81.

82.

83.

(8) EXTENSION EDUCATION AND AGRICULTURAL EXTENSION /

THFIET TSI Te WitheeRer TRIZYH

The word ‘extension education’ was
originated in which country?

(A) America
(B) France
(C) England

(D) Germany

Who is known as the father of
university extension’?

(A) J. Paul Leagan
(B) James Stuart

(C) Smith Lever

(D) L. D. Kelsey OQ

The theo on education is

based o\

(A) democracy
(B) communism
(C) bureaucracy

(D) socialism

81, ‘wow fen v f s R A g
(A) STfE
(B) %@

(C) s

83. war fen =1 fgia smaia B @
(A) TS W
(B) WRER W
(€) A

(D) GHSETE W

1027 /BE-SFP/RCE-M/3-A
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84. The fundamental objective of

extension education is

(A) integrated development of
agriculture

(B) overall development of human
being

(C) livestock development

(D) economic development of nation

85.

86.

87.

Social stratification is

(A) method of dividing the social
relationships

(B) analysis of level of village
institutions

(C) impact of political institutions
on society

(D) accounting of economic

condition of rural. society

The first KVK of India was stagted a
which place?

(A) Pusa, New Delhi Q
(B) Pondicherry * 0
(C) Bilaspur (C@
(D) Thiruwv @puram
Community Development Programme
was started on

(A) 15 August, 1955

(B) 2 October, 1952

(C) 26 January, 1965

(D) 19 May, 1975

84.

85.

»

87.

W fRve w1 whiferes SeE ®
(A) i w w
(B) w1 Wt for
(C) wger forepre

(D) g = i foepra

iR e B

(A) oA % waul w fal| w3
fafa

(B) et &% TR 1 foremor
GETaTt 1 A W IHE
e 6 oiiE fRfa w

ar-sirat

mewﬁaﬁﬁa(mmm

TIH T YRV g3 ot

(A) @, 7 foeh

(B) drfus=rt

(C) foremagR (Somo)

(D) forearagm

eI T wriwa e TR gel 17

(A) 15 3R, 1955

(B) 2 TR, 1952
(C) 26 SHadl, 1965
(D) 19 @8, 1975

1097 IRE-_QRP /ROKF-M/R.A
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88. The full form of IAAP is 88, 3o To To Wo w1 Y (forga) 7 3

(A) ;r;dlan Agriculture Adoption (A) e UfiwesR TEEH S
oject
(B) Integrated Agriculture Area (B) sRee Wiiwear T S
Programme
C) Tfa Wfteeer wfen Tum
(C) Intensive  Agriculture  Area ©

Programme

(D) 3fem Ufeher Tia deee

(D) Indian Agriculture Area Project
89, forem WA H FEHH TRA g

& 1955-56 &

89. Intensive Agriculture District

Programme was started in

(A) 1955-56
(B) 1974-75 . () ) ¥ 1974-75 R
(C) 1982-83 ®‘ (©) 1 1982-83
L 0 (D) &1 1960-61 i
90. Lab to Land e) was

90. Tl ¥ @4 aF (A9 Z A0S) &

launched by

.
(A) Indian C%Qf Agricultural

Rese

B) P ayat and Rural

Development Department

(C) Indian Agricultural Research
Institute

(D) Ministry of Agriculture and
Farmers’ Welfare, Govt. of India

forosp R0 W ferm TN en?

(A) W P STgHEM TREg
(B) v=Ed wE wHw foeer fam
(©) wﬁawww

(D) FN & FHh FHeaw A,
R

1027 IRFR-SFP/RCE-M/3-A
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91.

92.

93.

(9) ECONOMICS / TohiAiHad

Growth-oriented definition of

Economics is given by
(A) Alfred Marshall
(B} A. C. Pigou
(C) Paul Samuelson
(D} None of them
How many divisions are there in
Economics?
(A) Five
(B) Four
(C) Three
(D) None of the above
O

Which statemen‘ i t correct
about Law of D@

N

(A) It sl% the functional
relationsh

between price and
quantity demanded

(B) It shows inverse relationship

between price and demand

(C) It is a quantitative statement

(D) None of the above

91.

<

93.

iR B fereTar-ahfeh it <t @
(A) STeHS WA A

(B) o Hio Wi

(C) Ui Tuea

(D) 3 & I T

&@mﬁm%?
) =R

(C) dH

(D) 3T & & g T

o ¥ Tam % gy 0 SH-|1 AE
e T 2Y

(A) ¥E Hma @ AW W oAE % A
TS TFaY ) feEarar §

(B) € SHa we A % i fauda e
! Sl

(C) I8 T qREMIHS AH §
(D) 39 # ¥ g T

1027 /BE-SFP/RCE-M/3-A
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94. Increase in demand is not the resuilt
of

(A) change in prices of the

commodity

(B) change in the income of the

consumers

(C) change in the prices of

substitute goods

(D) None of the above

95. The slope of the demand curve is

(A) positive
(B) negative
(C) zero

(D) None of the above

96. Returns to scale is related

(A) very short period

(B) short period O
.
(C) long peri

(D) Non ve
97. Which is not a part of Farm
Management?

(A) Production of crops

(B) Minimum support price
(C) Export and import

(D) Agricultural credit

94, i i gig aRum w3 3
(A) o H Fmat § aREda w1
(B) Suvirehredt 1 o # aRadH
(C) TG Segait i Fwat § aierd

(D) 3w H A &IS A
95. Wi-95% T Bl 8
(A) ©FATCHR
(BB
() ) I § A B
L 2
96. YN &1 Ui TEfUA §

A) i e |
(B) Tcushid d

(C) el |

(D) 39 § ¥ g T

97. HA-Ul N YA 1 ST T 27
(A) HHAT I I
(B) =i W A
() Frmia wd mEmE
(D) Ff-urE

SPACE FOR ROUGH WORK / T% %M % T S8
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98. Which is not the subject matter of

99.

100.

Agricultural Economics?
(A) Horticulture
(B) Animal Husbandry

(C) Prime Minister Gram Sadak
Yojana

(D) None of the above

How many agricultural products
MSP determined by the Agricultural
Costs and Price Commission?

99.

.

08, Fi-srfura & fvaeeg § fFd it @

fepam st 37
(A) iR
(B) wRIIEH
(C) TUFH UM SH AT

(D) 39 § A I T

fra /Y I % =Ean e g &

A T e AR 3 R

(A) 13 )
\ ¢
(B) 21 % B 21
(C) 24 0
(C) 24
(D) None of the abov
Q) D) v 2 A
.
Which is the increasing . '
agricultur Nity of small | 100. wrd # @g w wWAia FFAEl & H
and margi ers in India? IcuTesRdl | ghg HeITelsh HH-91 87
(A) Agricultural Research  and (A) %r)ﬁ m w A
Investment
ﬁ 2
(B) Access to modern inputs ) 3 13 g ;
(C) Appropriate technology with (C) S9gw Pfich, W e fo
innovative marketing system gﬁm & |
(D) All of the above (D) g @ft

1ND7 IRW_QRP/RCOR-M/R.A
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(10) HORTICULTURE / Bieisheer

101. The phenomenon of bolting occurs | 101, Sifeen 61 isen Bl §
in '

(A) Teerdia
(A) biennials u
(B) perennials S
(C) annuals ©
(D) SR

(D) herbs

102. Full slip stage is the indication of 102. %_f@m s fe 7 8 e W

maturity in which of the following i Bl Hhd @7
crops?

(A) Cucumber

B) Mushmel < : |

(B) Mushmelon X (C)'f

(C) Bitter gourd $| . D) 5
(D) Long melon
O 103. S fre 3

103. Zeno is a variety of

(A) TEUTE
(A) asparagus
(B) carrot o OQ (B) TR
(C) radish (). 7
(D) tur (o), T

104. Bhima Shubhra is a variety of 104. F@TW%

(A) banana (A) el
(B) mango (B) 3 H
(C) onion (C) W=t =l
(D) potato (D) AT T

SPACE FOR ROUGH WORK / T &/ &% foig s
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10S5.

106.

107.

108.

10S.

CNSL is extracted from the fruits of
(A) almond

(B) coconut

(C) cashew nut

(D) caster

Pekoe is related to the crop
(A) tea

(B) coffee

(C) rubber

(D) oil palm

Bareja is used for cultivation of
(A) tea

(B) betelvine

(C) coffee

(D) black pepper

Rose supreme is the varie@
(A) Gladiolus Q
(B) Rose S O

(C) Chrysanthe

(D) Anthur@
Dendrobium is useful for

(A) cut flower
(B) garland
(C) loose flower

(D) Ikebana

105. o THo THo Tdo @ frEsd il 1
FrepTen ST 27

(A) SE™

(B) i@

(C) =S|

(D) ITerelt

e form wue @ watia 77
(A) 9

(B) Hih

(C) =g

(%3

(D) a
Tra® Icqred § B 87

106.

107.

) A
(C) FH
(D) et i
108. U5 g fFrer ®
(A) THeHTE
(B) JoE 1
(C) Bafd =
(D) TYRFA
109. frus fore S~gifaam swvh 87
(A) H TR
(B) &R

(C) Gl g™
(D) 3ATSeHeAT

\0
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110.

111.

112.

Chhatri is a popular variety of
fruit crop.

(A) ber
(B) beal

(C) sapota

(D) litchi

Which of the following statements
is correct?

1. Training
framework.

provides strong

2. Pruning is done to encourage
vegetative growth.

3. Wide crotch angle is desired in
training.

4. Pruning is required to obta’in
regular bearing.

5. Making a notch above
notching.

1, 2,3 and 4

1,3,4and5Q
1,2,3and0
¢

2,3 4

A)
(B)
©
(D)

The r ctween percent and
p-p-m. ring preparation of plant
growth regulator is

A) 1% =
(B) 1%
©) 1%
(D) 1%

100 p.p.m.
1000 p.p.m.
10000 p.p.m.
100000 p.p.m.

2

110. B9 5o 6 v e B
(&) |
(B) s
(C) g
(D) =it

111, Tafafaa § & FA-91 FoF wE 27

1. qui N9 A TH WS @
T B

2, qMwae 9gaR TF B8 hl STl
&dﬁaﬁamwa@ﬁa%
¥ R Ber 3G S S B
() 5. wHiqwl F IR G FAAT G
& el |
A) 1,2,3T4
B) 1,3,4TW 5
€ 1,2,3TW5
D) 2,3,4T 5
B afy Pt 9 e e & wfe
o do THo & UaY 8
(A) 1% = 100 Ho Ho THo

112,

(B) 1% = 1000 o Ho THo
(C) 1% = 10000 Hio Hio To
(D) 1% = 100000 Hie Hlo TWo

1027 /BE-SFP/RCE-M/3-A
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113.

114.

115.

Which are true examples of formal

garden?

(A) Rashtrapati Bhavan Garden
(Delhi), Shalimar Bag (Lahore)
and Taj Mahal Garden (Agra)

(B) Lalbag (Bengaluru), Kamala
Nehru park (Mumbai) and
Botanical Garden (Kolkata)

(C) Udhagamandalam = (Chennai),
Lalbag (Bengaluru) and Taj
Mahal (Agra)

(D) Brindavan Garden (Mysuru),

Rajendra Giri Park
(Panchmarhi) and Maitri bagh
(Bhilai)

Top working in old plants is done
(A) to transfer the tree 0
(B) to train the tree é
(C) to rejuvenate the

(D) All of the abo 0

Multitier 1 is practised in
which Sta

(A) Kerala

(B) Assam

(C) Telangana

(D) All of the above

\Q/A

113. Tafa et o UM & dE I 8

(A) Tgafd wem 3Em (Regh), wefm =
(TER) T qeHES ST (ATRT)

(B) AIEER (STEE), FHAM Te® I
(7=%) T arefas M (e

(C) Sewdieem (JE), e (Sege
Tq qSHEd STM (3ATRT)

(D) F=A meA (), wRR AR e
(T=e) e Bt (fiveme)

114, % 9fif st R St @
QA) I B WEARA A F TIQ
(B) 3% & gurs & % foe
(C) T8t % T & & o

(D) 3T weft

115. ageiy @t fra T § ft ot ¥7
(A) &
(B) /W
(C) e
(D) ST wft

1027 /BE-SFP/RCE-M/3-A
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116.

117.

118.

119.

Calculate cropping intensity of the
farm having 10 ha acreage with
following details :

Crop Cropped area

(ha)

Kharif 10

Rabi 8

Zaid 6
(A) 100%
(B) 120%
(C) 240%
(D) 300%

Breeder seed is the progeny of
(A) nucleus seed
(B) foundation seed
(C) registered seed
(D) certified seed

Stenospermocarpy refer

(A) formation of thout

fertilization
(B) formation” er seed
(C) aborti @ryo
(D) e rescue

Elephant Foot Yam is a
(A)
(B)
€
(D)

rhizome
corm
bulb

sucker

116. T=fifea S#dl % 99 & 10 &

B < FOA GEFAT i T IR
wqd w89
(THM)
% 10
LG ]| 8
SIEC 6
(A)" 100%
(B) 120%
(C) 240%
(D) 300%
117. Tpaeh! dafd 27
5 A9 /A A
() (B) MuR i<
(C) wsfiga st
(D) ST SISt
118. TWAEHERHET ¥ a0 B

(A) Fi=a % ai s S
(B) Ut offst =1 ST
(C) YoT =T MHaTa
(D) oo i &
119. sl T @
() whe
(B) Fha
(C) wesheha

(D) ¥l
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120. Mist chamber is used

121.

122.

123.

(A) for seed production
(B) to induce flowering
(C) for propagation
(D) All of the above

When something in the landscape is
repeated with a standard interval, it
is called

(A) balance

(B) focalization

(C) proportion

(D) rhythm and line

The relationship of size of all th
features in landscape is

(A) principle of balance

(B) principle of propo@

(C) principle of foc

(D) principle of and line

Windbreak
direction?

planted in which

(A) North and West
(B) South and West
(C) South and East
(D) North and East

121.

123.

120. fie! S& &1 TR fom S §

(A) S 3T B

(B) I &g
(C) W &g

(D) Iodw w+ft

-3 § va TRl s w1 e mee
A R FRER &, q TE FHgelal 8

(A) HgeH

BQE?

| e

*
. -3 # oft FfEll & ERt | wey ®
Tehid e &

(A) Fger = fergra

(B) T 1 RrgT

(C) F3M AN &1 g

(D) a1 T Utk 1 Rigra

Y- ol Fore fewm & wrmRn S 27
(A) W TF ufvem

(B) <famr wd ufeem -
(C) < v @

(D) SR

1027 /BE-SFP/RCE-M/3-A

SPACE FOR ROUGH WORK / % &M & forw g

30

PTO



124, Which planting system accomodates

maximum plants?

(A) Rectangular system
(B) Triangular system
(C) Quincunx system

(D) Hexagonal system

125. Which irrigation  system

maximum water-use efficiency?
(A) Sprinkler syste‘m

(B) Drip irrigation system

{C) Bubbler system

(D) Ring basin system .

126. Which soil

irrigation?

requires

(A) Black cotton soil

&

(B) Clay soil
.
(C) Clay lo

(D) S

127. Scheduling of irrigation depends on
(A) soil moisture
- (B) evapotranspiration

(C) plant growth stage
(D) All of the 'above

has

124. Tra Juw ugla #§ siferran @ it
1 T 87

(A) rEER TEf
B) Frgemenr agid
(C) wergeh v

(D) TEYSEHR g

g & fru Tl # siftrraw Si@-s
Qe Bt 87

(A) o gghi
@%ﬁﬂrﬁwﬁ
()O ) =R (FAgEN) T
*
126. fro fidl § SR-aR R 61 e

Bt 27
(A) hrett Tt Frgt
B) Tt T

(C) Torht gre gt
(D) Wiiel-gre gt

fireng =1 futwon fok @ 2
(&) T T W

(B) TSRO W

(C) Ny Fhg HTeq R

(D) 3o Wt

125.

(D) SEERRR ATl TG

127%.
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128. Calculate water requirement of a | 128. Fwmfuflaa faero =1 M #a gu w 99

plant using following details : ¥ T Y ATEIRAT I 0T HIT
Pan evaporation—6 mm ¥7 refieor—e6 Mo Hio
Row to row spacing—10 m HAR ¥ HAR H F—10 o
Plant to plant spacing—10 m 9 & Ny @_10 Mo
Crop factor—0-6 T {,[UﬁE—O' 6
Pan factor—O0-7 A7 TOE—0-7
Wetted area—0-2
el &85—0-2
(A) 50-4 lit/day
. (A) 50-4 f0 /feA

B) 504 lit/week §
b (B) 50-4 Tofo /umm
(C) 50-4 lit/month

(€ o [HTE
(D) 50-4 lit/hr
| 4 Teto [avet
129. Meadow orcharding refers to .
SHIS Tl & e}

(A) planting trees at normal spacing ) "
(A) et R W ARV R ST
(B) planting trees at wultra

spacing (B) Wl I T FH SO W T
(C) planting trees at lo (C) el Y A T W ST
(D) planting trees spacing (D) Wt i 3TfR AT W T
130. é kept as iso. AT W WEE Yl fit e W
polhnators orchard _ e @ s )
(A 1 a) 1
®B) 5 (B) 5
(€) 10 (C) 10
(D) 20 (D) 20

SPACE FOR ROUGH WORK / & &/ & fou smg
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(11) BIOTECHNOLOGY / AT

131. When DNA replication starts

132.

133.

(A) the phosphodiester ~ bonds
between the adjacent nucleotide
break

(B) the bonds between the nitrogen
base and deoxyribose sugar

break

(C) the leading strand produces

Okazaki fragments

(D) the hydrogen bonds between the

nucleotides of two strands break

Sex determination in plants was

extensively investigated in

(A) Pisum sativum

(B) Phaseolus vulgaris

(C) Melondrium Q

(D) Arabidop$

na

originates during
mutation
during mitosis.

originate
(A) germinal, somatic
(B) germinal, spontaneous

(C) somatic, germinal

(D) spontaneous, point

>

131. <9 DNA &1 Gy € 2l ¢
A) Wg T AFRERES 6 WE

RSN e T2 §
(B) TEeSH 9@ U9 eitaiiEss
T % FS 224 ©
(C) *nnhl Bre TR ghs
‘ Eociid
(D), A B % RS %
dis 220 §

@%ﬂﬁéﬁ%ﬂﬁﬂkﬂaﬁa@ﬁqﬁu
SiER?

(A) Pisum sativum

(B) Phaseolus vulgaris

(C) Melondrium

(D) Arabidopsis thaliana
_ Icafteds (wigenfi) st

FAMEMI@ BN L W@ K
e % AR I B 2

(A) FFm, e
(B) ST, W&
(C) e, FFT
(D) W&, forg

133.

SPACE FOR ROUGH WORK / T% %d % forg g
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134. How many ATP molecules can be
derived from each molecule of acetyl
CoA that enter the Krebs’ cycle?

(A) 6
(B) 12
©) 18
(D) 38

135. A person with phenylketonuria

cannot convert

(A) phenylalanine to tyrosine
(B) phenylalanine to isoleucine
(C) phenol to ketone

(D) phenylalanine to lysine

136. Which of the following cofactors is

correctly matched with the vitami
it is derived from?

(A) NADH—Vitamin B,

(B) FADH3—Vitamin B
(C) Pyridoxal phosph Qtamm B,

(D) TPP—Vitamj @
Which of th&ng enzymes is

not proteinaceous in nature?

137.

(A) Urease

(B) Peptidase
(C) Ribozyme
(D) Phosphatase

134. a4 ATP 317 UHiRE CoA % WS Y]
T g RS 1 wwd 8, S R Shew wm W

AT W B
(A) 6
(B) 12
(C) 18
(D) 38
135. SadhRRE 9 ke akafda Td =
LIG R
A) FFeREER # iR §
(B) H AREHH §
( it i e |
.. @ Vecton e
Prefofan we-smE & 4 BA-w o
Heafewre foerfa @ adt v 4 ¥« @

87

(A) NADH—YVitamin B,

(B) FADH,—Vitamin B,

(C) Pyridoxal phosphate—Vitamin B,
(D) TPP—Vitamin B,

Fefafes # @ #9-w1 w=m wefe #
Bicice Gt

(4) e

(B) duersew

(C) TEISEH

(D) WIEhS

137.

SPACE FOR ROUGH WORK / % &1 & fou s
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138. You begin to study a novel plant

139.

140.

138. 319 TF F& UG WSIid ol EATH

species and discover that this IE A 8 a1 ga1 =t © 6 | =n
diploid plant has 16 chromosomes. 9§ 16 T 2| o9 foram ferees
How many linkage groups would you T YT ST TR S 87

expect to find?

(A) 16 @) =

(B) 8 (B) 8

) 4 (C) 4

(D) It is impossible to tell from the
provided information

is

is

which
and

A molecular marker
amplified by PCR

(D) R 7 qem, S A F O W
£\ ofq: SaE OvE TE 7

FH-¥ T onfaw g W PC
2 (amplified) ST 3 W W

139.

polymorphic by length is a/an fad 27
(A) RFLP o '
(B) VNTR O )
(C) AFLP (B}, -VNTR
.

(D) SNP \ . (C) AFLP
Sequencing of genomes ot (D) SNP
1;‘:;232: is potentially Ble | 140. wret ¥ @@ o= SfEl % S

_ FTHI G ¥9 @ 39 Y wew
(A) disorders of ctions F

can be st relatively

simple h
compm@qf gene sequence
b fférent species can

(B)
axg prediction of disease-
cauSihg mutations

(C) genes may have a similar

function in other species, giving
us a place to start with
functional analysis of similar
genes

(D) None of the above

(A) Ager FawEl ¥ FrERi F e
W Aiear yorell # steed
Tehal B

@) faftm wifet % 6= .
H g -SRI
fersanoft it erAfa 3 weRdt @

(€) <hHt =1 I vl 6 T

T THaT B, GoTEY T qHH
FRicTs fagerv o e e

(D) 39 # & Big T

SPACE FOR ROUGH WORK / T &/ % fog s
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(12) AGRICULTURE ENGINEERING / Wfieheer SsiifAafan

141. The pump used in the windmill may | 141. YsH-5R § 3I9@m fFnm s aen 9o &

be of
(A) reciprocating type
(B) rotor type

(C) diaphragm type

AT 7
(A) e eg
(B) R =Y

(C) TRTH™ 2159

(D) All of the above (D) 3'2@?5 oft
142. The RPM of standard PTO, equipped | 44 EEray o Fo o F =% Wl
in tractor, is o io WHo) I A

(A) either 400 or 700
(B) either 540 or 1000
(C) either 250 or 750

(D} either 500 or 1100

R @4oom 700 e ®
L J
\ (B) 540 I1 1000 BT ?

(C) 250 IT 750 Bl B

(D) 500 I 1100 Br 3

143. The testi s&_ i h th i
R I IQ‘IC ° | 14a. e k@ & ui=eH & v aifsa il
uniform applicatio, esired seed
rate ensure eration of kil ThER 3q2ﬁ1'[ Eﬁ gﬁf@l‘d Ef’ﬁ %’Q T
seed drill is ifidally called sk gl
(A) testing of seed drill (A) e fga = wlem
(B) calibration of seed drill (B) wie fget 1 Hfewym
(C) adjustment of seed drill (C) e fga 1 gHrlieH
(D) None of the above (D) 39w # | HIg T

SPACE FOR ROUGH WORK / T &1 % o smg
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144. The time required for the runoff | 144. RS & % el | forg ¥ o

water to flow from the most remote S_E (TT6) S H g8 H &
point of the watershed area to the FHEATdl &
outlet is called

(A) Sa-Fem A

(B) MR T HEIH
(C) ot (Fifufieem) 1w

(A) time of drainage
(B) time of concentration

(C) time of precipitation

D) S GgiH 1 R
(D) time of saturation (D) wgf

145. Ifg % e gor 5« 1 T T

145. The most important form of soil
water for plant growth is

(A) capillary water 0 (A) <HRwRT S

’ ¢
(B) held water Q\ 3 (B) a1 i ¥ S (Re€ AR)
(C) hygroscopic water 0 (C) STEAmIE (FTEIRITH ) ST

(D) e

(D) groundwater Q
RS

146. The design sion ditches for 146. Tt % frEm %ﬂ S TR SR

quily contr§lAs based on the return (e T it fesme o e
perio % W emeia 77

(A) 5-10 years (A) 5-10 =

(B) 50 years (B) 50 a9

(C) 25 years (C) 25 =

(D) 100 years (D) 100 ¥

SPACE FOR ROUGH WORK / Th @@ % for¢ il
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147. The purpose of cutoff walls in drop
structure is to

(A) support gully walls
(B) spill the flow safely
(C) dissipate kinetic energy of flow

(D) provide strength against sliding

148. Initiation of soil movement in wind
erosion takes place under
(A) suspension
(B) saltation and surface creep
(C) bed-load movement
(D) Both (A) and (B)
149. The compression ratio of a
carburettor engine varies betwee
(A) 14:1to20:1
B) 45:1t08:1
(C) 11:1 to 12:1’ OQ
(D) 20:1 to 22:
150.

Thermal eﬂ& of diesel engine
varies betwee

(A) 25% to 30%
(B) 32% to 38%
(C) 60% to 70%
(D) 70% to 75%

147. I G H H2-3116 CaR T H W B
(A) el feam A werEet (|9e)

(B) we@ H Y@ o wsemr (foe ¢
i)

(C) & & TS ST hl AN BT
(D) TrsfeT % fowg 7ot oM A
Y- H TaT H gAwe (qEe) frue
IE § a1 7

(A) TEEE

(B) T GHI FHIT

(Qr e Ts I

( (4) @ (B)

*Frfe Rm w udier (I WRed)
J1ga T 7 & Foress s seerar 27

(A) 14:1920:1

(B) 45:198:1

148.

€ 11:1812:1

(D) 20:1922:1

St $RA S A aer B i @ e
o Fgerdt 27

(A) 25% ¥ 30%

150.

(B) 32% & 38%
(C) 60% & 70%
(D) 70% & 75%
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qE NOTE
1.9 gg:{_gﬁam FRE M e 1. This Question Booklet consists
1 : fiees W He  1-15 foljo Ratts,
2 : G T Ho  16-30 P Q. Jog:
i . onomy Q. Nos. !
3 : A AASTHE Y o 31-40 ater Management Q. Nos. ¢
4 : Wfiere=Ra MO U i . : Agricultural Meteorology
‘ and Crop Physiology Q. Nos.
5 : Entomology and
5 Pathology Q. Nos. !
G 6 : Soil Science Q. Nos. ¢
7 : Genetics and Plant
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8 8 : Extension Education and
A Ho  81-90 Agricultural Extension Q. Nos.
* . 9 : Economics Q. Nos. 9
9:% ZRUEER W Wo  91-100 10 : Horticulture Q. Nos.10
10 : Biefehe=t ¥ Ho 101-130 11 : Biotechnology Q. Nos.13
11: 9% To 131-140 12 : Agriculture Engineering Q. Nos.14
12 : iR U Ho 141-150. | 2, Indicate your answers on the

2. 7l % 3 R T OMR $R-T4 W 3 R Answer-Sheet provided.

3. WAE Td IW ¥g 1 i omeiea A W 2 | 3. 1 mark is allotted for each cc
qON TR I 3AThA WA W Ve HEH W answer and Y. mark will be ded:
TG for each wrong answer.

4. Frelt off T ¥ Fage A G W Td AEESA | 4. Use of any type of calculator or log
B 1 TERT 9 B and mobile phone is prohibited.

5. OMR SW-# F M F4 ¥ T ®R | 5 while using OMR Answer-Sheet,
AT 7 B/ R =18 e SITe a1 T8 W should be taken so that the Ar
1 Rierae a1ft we WY e woreed I8 @ A Sheet does not get torn or spoiled «
Sme| folds and wrinkles.
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